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% # s - BRHE By B il & & 1
BRI 9,870,700 + 332,234 10, 202, 934
EEAGE 9,870, 700
EERE 332,234
Z DR 9,870,700 x 53.85% ( 35% + (1 — 35% ) ) 5,315, 371
EHRIE 10,202, 934 + 5,315, 371 15,518, 305
—REBRES 15,518,305 x 53.85% ( 35% = (1 — 35%) ) — 4,912 8,351,695
KBS 15,518,305 + 8, 351, 695 23,870, 000
B EET 23,870,000 x 10.00% 2,387,000
EBERREM 23,870,000 + 2,387,000 26,257,000
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) R Big - MAKTHE BfL % 8 B & i) Hm =
ER 10, 202, 934
BaE3] 10, 202, 934
FiwEREt 10, 202, 934
FiwEREt 9, 870, 700
EUEE 145, 400
1 StE#fE 1.00 145, 400 145, 400
=
BEEHORE 1,210, 500
2 FIF - BASHERE 1.00 221,100 221,100
b
3 TEENBEEN 1.00 521, 400 521, 400
b
4 RERABRERE 1.00 468, 000 468, 000
b
REMEDHET (1) 3, 758, 700
5 Kkift - EBREBORERDERE 1.00 1,054, 300 1,054, 300
=
6 BRREOHMBESEHER 1.00 2,704, 400 2,704, 400
=
REMEDHET (2) 3, 758, 700
1 ki - ZBREBORERDREE 1.00 1,054, 300 1, 054, 300
=
8 BRKEOHRCEMHEN 1.00 2,704, 400 2,704, 400
=
AHERREN 376, 900
9 AHERRRENR 1.00 121, 800 121, 800
]
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10 EREIRENOER 1.00 255,100 255,100
]

e - W|mE 365, 400

11 %3 - |eE 3.00 121, 800 365, 400
]

BEY 255, 100

12 EBTERRHEER 1.00 255,100 255,100
=

EERE 332, 234

EHRARE 95, 053

13 EHRARE 1.00 95, 053 95, 053
=

(DS 230, 000

14 EHHER 1.00 230, 000 230, 000
=

HEE 7,181

15 #i& 1.00 7,181 7,181
=
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&5 1
%5 SHEER 14y
% L] g - BIRTiE ==Rivi 2 i £ g &
EXEETACH))
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57,000. 00 57,000
HER (B)
A 0.50 47, 200. 00 23, 600
= it YE¥HESD . 1.00R 145, 400. 00 145, 400
&5 .2
2% MR - BAREHSEERE 1HhmZ Y
£ b3 B - BIKTE =-Fiv] = B i ] w =
F{EHRAm GRED
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.50 57,000. 00 85, 500
HEm (B)
A 1.50 47, 200. 00 70, 800
& Hi YEZRES - 1.004h = 221,100. 00 221,100
%53
£ . T EE R EEEN k-
% b R - KT BT 2 B O{f 2 H %
FEHAR (F%E)
A 0.50 64, 800. 00 32,400
HER (A)
A 1.00 57,000. 00 57,000
HER (C)
A 6.00 38, 400. 00 230, 400
Hit &
A 6.00 33, 600. 00 201, 600
& B YEZEREN  1.00Hh = 521, 400. 00 521, 400
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&5 4
&% BEREESRTE B
£ b 1R - BARTR B % = =i 5 i &
F{EHEm (F%EH)
A 1.50 64, 800. 00 97,200
HEm (A)
A 2.00 57,000. 00 114, 000
HEm (B)
A 3.00 47, 200. 00 141, 600
Em (C)
A 3.00 38, 400. 00 115, 200
= it YEXHES 1,005 468, 000. 00 468, 000
ES .5
B kR - EEREOREEHDEE IEED)
£ 5 1R - KTk B % = -] £ # &
EXEETIEH))
A 0.50 64, 800. 00 32,400
Em (A)
A 3.50 57,000. 00 199, 500
HEm (B)
A 7.00 47, 200. 00 330, 400
Em (C)
A 8.00 38, 400. 00 307, 200
B8
A 5.50 33, 600. 00 184, 800
& B 1EZRERN - 1.00 1, 054, 300. 00 1, 054, 300




R &I/ \vr—2

KRB BRI TFE—SFILCI12B LU CI1 2B ER) T EEICBE I 2T F £

S .6
B BRREOHERESHEN 14y
% L] g - BIRTiE BT 2 i & E i =
EXEETACH))
A 4.00 64, 800. 00 259, 200
HER (A)
A 10.00 57,000. 00 570, 000
HER (B)
A 20.00 47, 200. 00 944, 000
HER (C)
A 19.00 38, 400. 00 729, 600
Hiff&
A 6.00 33, 600. 00 201, 600
= B YE¥HESD . 1.00R 2,704, 400. 00 2,704, 400
&5 1
¥ K - EBKEOREEHDORE IEED
£ b3 B - BIKTE =-Fiv] = B i ® 5 w =
F{EHRAm GRED
A 0.50 64, 800. 00 32,400
HEm (A)
A 3.50 57,000. 00 199, 500
HEm (B)
A 7.00 47, 200. 00 330, 400
HEh (C)
A 8.00 38, 400. 00 307, 200
i &
A 5.50 33, 600. 00 184, 800
& it 1E%8EH - 1.00X 1, 054, 300. 00 1,054, 300
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B BRREOHERESHEN 14y
% L] g - BIRTiE BT 2 i & E i =
EXEETACH))
A 4.00 64, 800. 00 259, 200
HER (A)
A 10.00 57,000. 00 570, 000
HER (B)
A 20.00 47, 200. 00 944, 000
HER (C)
A 19.00 38, 400. 00 729, 600
Hiff&
A 6.00 33, 600. 00 201, 600
= B YE¥HESD . 1.00R 2,704, 400. 00 2,704, 400
5.9
&% AEREERIER 1mEHY
£ b3 B - BIKTE =-Fiv] = B i ® 5 w =
F{EHRAm GRED
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57,000. 00 57,000
& Hi 1YEZRES - 1.00[H 121, 800. 00 121, 800
&5 :10
& ERFEMEROER 1EHY
% b R - KT BT 2 B O{f ® £ H %
FEHAR (F%E)
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.50 57,000. 00 85, 500
HER (B)
A 1.00 47, 200. 00 47,200
HER (C)
A 1.50 38, 400. 00 57,600
& it YEZERES - 1.00[=] 255, 100. 00 255,100
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E#5: 1
&% i - e 1EHY
% L] R - KT B B =2 B @ %8 g &
EXEETACH))
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57,000. 00 57,000
= it YEZHES - 1.00[H 121, 800. 00 121, 800
&S 12
2 EBTERBEEER 14y
£ [ R - KT B B 2 B {f £ w =
F{EHRAm GRED
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.50 57,000. 00 85, 500
HEm (B)
A 1.00 47, 200. 00 47,200
HEh (C)
A 1.50 38, 400. 00 57,600
& Hi 1EZRERN - 1.00 255, 100. 00 255,100
&5 :13
&% EBARE 14y
4 b R - KT B H =2 B i £ H %
EXARE
= 1.00 95, 053.00 95, 053
& it 1E%8EH - 1.00X 95, 053.00 95, 053
ES5:14
2% EBRER XLy
% L] R - KT B B =2 B @ %8 g &
EBHRERERE
=® 1.00 230, 000. 00 230, 000
& it 1E%8ES - 1.00X 230, 000. 00 230, 000
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=:15
2% Be 12ty
% 7 e - KT A Bfn " = ¥ @ : = W =
EES
= 1.00 7,181.00 7,181
& g 1EZ%8EH - 1. 00K 7,181.00 7,181




